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A UASAHL
g3 EX A5 2
S5l A2 (et &
SA B (SIH) - MRAIY - A S 04l & o e H| D& 2
K2 198,623 155,903 42,720
= 41,000
= 157,623
INEEREE s o 57,435 39,792 17,643
201 Lerdgyl 33,235 29,592 3,643
01 AtR2t2iHl 13,822 11,662 2,160
Oget=ZH| 13,822
—SANEX (M) 16,5002 * 10&+A = 12 1,980
—SASXI(A3) 7 36,000& » 58fA = 12 2,160
—SAMSX(B4) 7 24,5003 = 3=tA « 12 882
—NHSHHNUEZ(REES) 8,800
ZclUAEE #3002 25 2,000& * 2& = 2,0000H 8,000
g A3M 2 35 50,0003 * 45 * 43 800
02 324l 19,413 17,930 1,483
OZZa3 2 HA 6.250
—EXN0Is SIE SXM S8 2509 = 50,0000 * 0.5 6,250
OAI& ZHlIs X 13,163
—SZTH EES/T ds3M FAE= 300,000& = 1CH 300
—NEMDg=es) A2+ 13,000,000& = 20 =+ 0.08 2,080
—NESE2eAAE RAE= 800,000& = 1CH = 12 9,600
— 0o Z2Z2288=) N2+ 14,784,000& ~ 1CH = 0.08 1,183
202 OfHl 7,200 7,200 0
01 =LHOIYI 7,200 7,200 0




M BIRASALL
M EX HA=F 2tel
chel: X E 22 (e mel)
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
OXN=2 HAI 92=X 120,000& = 39 = 123 4,320
OEXNOlES SXZA HRFX 120,000& * 2% * 128 2,880
405 KHAHFSHI 17,000 3,000 14,000
01 XML EEHSHI 17,000 3,000 14,000
OXNEMLD 25| &X(XNEAD 25) 10,000,000& * 1CH 10,000
OXNE=ZdE HIFRH 2 7,000,000& = 1CH 7,000
ANEZBAE Fbl 41,188 26,900 14,288
201 LBt 3| 25,568 9,900 15,668
01 At 2teld] 21,740 9,900 11,840
O et=ZH| 21,740
—NEESHMEEZ(HPI050EZEES) 2L (58) 14,700
- 22t 3 (350ml) 200,000& * 1= * 34 » 123 7,200
- S94(350ml) 200,000& * 28 * 128 4,800
- AoEXI 17,000& * 58 * 128 1,020
- A2EX 15,000& * 58 * 128 900
A3EXI 13,000& * 58 * 128 780
—dA2LX =2l 176,000& = 40€ 7,040
02 2323 3,828 0 3,828
OAE EHHI R XY 3,828
—ZM=EED| 10,050,000& = 1CH  0.08 804
—ANESSHAIBU(EZAHOIA) 24,000,000& = 1CH = 0.08 1,920
—NEECHIHEHH(RE) 13,795,000& = 1CH » 0.08 1,104
202 O4dl 4,320 0 4,320




SN OIAZ AL
M EX A= 22|
ol XIE el (o e
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
01 =Wobl 4,320 0 4,320
OXNEAEAE HHl g2=& 120,000& = 3 » 12& 4,320
203 YR F=A&H| 800 0 800
03 AHMFXALRFZRHI 800 0 800
OXIEAIZH HRFX 100,000& = 83| 800
401 AIEHIZLE20HY] 10,000 10,000 0
01 Al&H| 10,000 10,000 0
OXN&E=x JI&=d & 100,000& = 100& 10,000
405 RratESHI 500 7,000 6,500
01 XAMLEEFSHI 500 7,000 26,500
OXN&EII=E ELAME grolth 10,000& + 50 500
NESHHZUE HAFAIS 100,000 42,000 58,000
= 41,000
o 59,000
207 A IOHEH| 100,000 42,000 58,000
== 41,000
o 59,000
01 HAxE<H| 100,000 0 100,000
OXNHEZBE SsAAE =AM (111,9820H) 100,000,000 100,000
== 41,000
= 59,000
Xl dESAY 259,465 661,410 N401,945




A QURASAD
M EX A= 22

Sl Xeld2SArY (St &)
SN HB S (BH) - MBEAY - BAS of Ao S HRS2

EXNSEEELA & 44,720 29,240 15,480

201 LBt2AH| 5,400 5,400 0

01 ArR2t2ltl 1,200 1,200 0
Odtt=24| 1,200
—EXNSEFEY 2F A2E 7 100,000& * 123] 1,200

02 =32&H| 4,200 4,200 0
OA & &EHI KX | 4,200
—LMISHH S22yl 4,200,000 4,200

202 O4d] 4,320 3,840 480

01 =UWobl 4,320 3,840 480
OEXNESEIEEY 22X 120,000& = 3 » 12& 4,320

207 A FIHEH| 20,000 20,000 0

01 HAES<H| 20,000 20,000 0
OEXNESEIEEY HHsdY 20,000,000 20,000

405 KH&HF SHI 15,000 0 15,000

01 XML EEFSHI 15,000 0 15,000
OFXEH DIJAISAIAE 2= 15,000
—HEILCD(42" Dol At E) & 2EH 2 15,000, 000& 15,000

T2y L AHAIHSEHEANY 214,745 632, 170 ANAT7,425

201 LEt2HAH| 94,925 45,800 49,125

01 AtR22id] 32,425 39,550 NT,125
OYEt=2H| 29,625
—Nz=a dHl E2H EX7Y 50,000& = 202 1,000




A CIASAHL
g EX A5 2

Sl Xeld2SArY (et &
SN HB S (BH) - MBEAY - BAS of Ao S HRS2

—Nz=a dH E2H 2372Y 200,000& * 4= = 23] 1,600
—MZFA EE EdOIE ME 50,000& * 10JH A 500
—MZ=4A EE 2IES MHE 200& * 10,0002 2,000
—MZF=A B2 Z2UHAE HH 1,500& * 3,0000H 4,500
—MZFTA DX - DAl QHUHE 29 =4 350& * 27,5000H 9,625
—MZ=4A =282 Y H& 120,000& * 20JH 2~ 2,400
—MZE=EA E2 NHFAEIH HEH 300& = 10,0005 3,000
—MZE=EA EE JIEE MEH 2,000& * 2,500H 5,000
o2g=¢ 2,800
—C2YARG 2 70,000& * 10 = 43| 2,800

02 =32&H| 62,500 6,250 56,250
Os32= ¥ AHA 17,500
—MZFA DX - DA SEFL 17,500,000& 17,500
OAlI&E &HI KXl 45,000
—C2YE L HEHST S E4H| 45,000,000 45,000

202 O4d] 4,320 7,260 A2,940

01 2oy 4,320 7,260 A2,940
OMZ=A DX - DAl GRFX 120,000& = 3 = 12& 4,320

207 A FIHEH| 50,000 45,000 5,000

01 ARSI 50,000 45,000 5,000
OM=A E2YH F=AXE HE 50,000,000& 50,000

405 RHabFESHI 65,500 524,500 A 459,000

01 XAMLEEFSHI 65,500 524,500 A459,000




SA: CIEASAL
g EX A5 2

&2 XelZEs At (ctel: &
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
OHA#HHE M= E2HE HY| 350,000 * 15000 2 52,500
O=3J/2(&n ) H2 vs® HMH &X 70,000 * 1007H 7,000
OTEHE HEHSH MH &X 30,000& * 20074 6,000
Al 2e| 116,717 111,389 5,328
HEZSAIXIDL 2tel 109,717 104,389 5,328
101 el H| 2,898 10,711 AT,813
10 JIZtH2Z2AHSES 2,898 10,711 27,813
OMESAX AL SREEE 2,898
—JlE=s 30,900& » 1H = 75 2,318
—FU2REY 30,900 » 1¥ = 10 309
—40EE= 2,627,000& = 0.103 271
201 et 97,559 88,878 8,681
01 AR 2cldl 78,774 77,503 1,271
Oget=EZH| 76,534
—Xotgf2d 52X 2 2,200& * 1,600 3,520
—HESBAXIt 2 2 128 * 270,000E X 3,240
—E2H XNNEHHH (o) A2 2 210,000& * 55 * 23| 2,100
—DNEHDZEHI| A8 FU(XIAE &) 180,000& = 30 * 23l 1,080
=Xt dE=x==2 51,720
MEXIL BESF=E 653& * 120,000 X * 0.5 39,180
SREXN S8 6,2702 = 2,000& X = 0.5 6,270
Ol HAESx3 20,9002 = 300E Xl 6,270
—Xot2E MA(EX) 2L 8,674




SA: CIEASAL
g EX A5 2

ool EXl2e (chel: =
SA-EH-SRABA) - NEAMNY - BES Off &F K gggf; HwsZ

- DAHAE X2 128 » 276,000 X = 1.1« 0.5 1,822
SdXAE ¥ 2EXAN 10& * 276,000 X 2,760
BSEAM 128 » 276,000 Xl = 0.5 1,656
NI 26& = 10,00000 » 3% 780
HESAIXDL S22 128 » 276,000& Xl = 0.5 1,656
—NHZESAE M 60,0003 * 302fA 1,800
—XIJtEAE THEX(EX) 7 1,000& * 1,00000 » 23 2,000
—S 0 ME(XJL EELYA 0AEHE ) 50,000& » 145 * 23] 1,400
—SHHEE XItEE ZY 1,000& * 1,0000HK 1,000
Oo=d=+¢ 2,240
—RSaEIIRAY =¥ 70,0008 = 8F » 43 2,240

02 3323l 18,785 11,375 7,410
O332= & HMAl 18,785
—HEXDIF 28 Sk ¢S 2203 = 53,0000H 11,660
—RES4&SI| dHE S 1,750& = 50004 875
—EX0ls SIEEXNM SE 250& * 25,0000H 6,250

202 044l 5,760 4,800 960

01 =LHOIHI 5,760 4,800 960
OMESAIXI SRFA 120,000& = 3% * 162/ 5,760

405 XHaHE S 3,500 0 3,500

01 XY SSFHSHI 3,500 0 3,500
O ZELAXEZ A AE(POA) 3,500,000& » 1CH 3,500

SSo 7,000 7,000 0

_10_




SA:

212 S Akt

gz EX 25 22
chel: EX2a] el dH
A BB S(S) - NEAY - BES sy e =5
207 A0 5,000 5,000 0
01 ¢E9H| 5,000 5,000 0
ONLREE= HIE=2 29| 5,000,000& 5,000
303 Zatz 2,000 2,000 0
01 Z&= 2,000 2,000 0
OEXHHAH LI fIetalD ZAF 500,000& = 44 2,000
AdF5ae] 45,820 46,415 A 595
A=HE A4 5 45,820 46,415 A 595
201 eI 39,600 39,215 385
01 AtR2teld 39,600 39,215 385
Ogtt=2H| 33,300
—21=00t AL E MU =2 30,000& * 100 3,000
—ANESUSE A & MU =2 29,100
- AkZ2=Ql 1000m O] 8t 180,000& = 80 14,400
- AtEZ 21 1000m 0] &~3000m* O] 2¢ 330,000& = 20 6,600
- AtE S 21 3000m 0] &~5000m* O] 2F 420,000& * 5 2,100
ArE 501 5000m O] & 600,000& * 10A 6,000
—HE=2UE FH2 2285 +¢ 350,000& = 23] 700
—d=E8AE 2L 100,000& = 53 500
Oo=2g=¢ 6,300
—d=?-zE =€ 70,000&  15% * 23| 2,100
—SLIAAMR—EE = 70,000&  10& * 63l 4,200
202 0{4l 5,760 7,200 A1,440

_11_




SN QIREAD
Hu: £ A% 22l
el AS e (B9 @2
SN EHH.C(E) - NHEAY - BYS Ofl &F o8 a%ggi; HDnz2
01 2Uoit] 5,760 7,200 A1,440
SI=EERS 120,0002! * 4% * 122 5,760
203 HREAY| 460 0 460
03 AMEYL=XY| 460 0 460
OSHASSC U FHALNS Y2F 15,0002 * 43| 460
=NeE M 102,000 496,000 394,000
= 35,000
2 67,000
SEZHEY WA 102,000 496,000 394,000
= 35,000
2 67,000
CIEE<TE 102,000 70,000 32,000
= 35,000
2 67,000
401 Al&HILROHY 2,000 0 2,000
03 Al&=CH| 2,000 0 2,000
OgHAS2CE 2L 2,000,000% 2,000
402 QIR0 100,000 70,000 30,000
= 35,000
2 65,000
01 AR=EE 100,000 70,000 30,000
0¥z & 700,0008 * 1005 70,000
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